
Factorisation d'Exposants (E)
Décomposez chaque exposants en facteurs.

711 =

205 =

69 =

76 =

228 =

106 =

101 =

51 =

167 =

2212 =
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Factorisation d'Exposants (E) Solutions
Décomposez chaque exposants en facteurs.

711 = 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7 × 7

205 = 20 × 20 × 20 × 20 × 20

69 = 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6

76 = 7 × 7 × 7 × 7 × 7 × 7

228 = 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22

106 = 10 × 10 × 10 × 10 × 10 × 10

101 = 10
10

51 = 5
5

167 = 16 × 16 × 16 × 16 × 16 × 16 × 16

2212 = 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22 × 22
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1 977 326 743

3 200 000

10 077 696

117 649

54 875 873 536

1 000 000

268 435 456

12 855 002 631 049 200


